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1.3 Tutorial: Write a function that takes in a tree and squares every value. It should

return a new tree. You can assume that every item is a number.

def square_tree(t):
"""Return a tree with the square of every element in t
>>> numbers = tree(1,
[tree(2,
[tree(3),
tree(4)]),
tree(5,
[tree(6,
[tree(7)1),
tree(8)1D1)

>>> print_tree(square_tree(numbers))

nam




1.4 Tutorial: Write a function that takes in a tree and a value x and returns a list

containing the s along the path required to get from the root of the tree to a

i( i not present in the tree, return None. Assume that the entries of the tree are
ighie.

For the following tree, find.path(t, 5) should return [2, 7, 6, 5]

>>> t = tree(2, [tree(7, [tree(3), (6, [tree(5), tree(11)1)] ), tree(15)1)
>>> find_path(t, 5)

E2: 1,6 5%

>>> find_path(t, 10) # returns None

if




